



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 8th Semester, Section A, Morning, Session Autumn 2025

Registration #	Name	AIE506					CSC 302					CSC 401					CSC 402					CSC 425-1					CSC 503				
		Machine Learning					Programming Fundamentals					Data Structures & Algorithms					Information Security					Human Computer Interaction					Artificial Intelligence				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-21-M-A-0007	Amir Hamza	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-21-M-A-0011	Hassan Muhammad	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-21-M-A-0033	Nouman Zahid (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-21-M-A-0042	Siraj Munir	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	71	B	3.0	4	12.0
B.S CS Aut-21-M-A-0044	Talha Asim	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-A-0196	Muhammad Yaseen Hayat	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-A-0202	Shoaib Ali	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-A-0205	Zeeshan Ejaz	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-B-0261	Rana Muhammad Saad Jamil	70	B	3.0	3	9.0	74	B	3.0	4	12.0	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0002	Abdul Rahman Ahmad	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0003	Abdul Salam	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0004	Abdullah Afnan Khan	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0005	Aleena Ishfaq	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0006	Areeba Shoukat	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0008	Badar Majid	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0017	Iqra Naseer	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0019	Kainat Shahzad	91	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0020	Mehak Ali Zia	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	80	A	4.0	3	12.0	-	-	-	-	-	
B.S CS SP-2022-M-A-0021	Mohsin Abbas	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0025	Muhammad Fahad	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0028	Muhammad Jawad	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0033	Muhammad Obaid Ullah	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0034	Muhammad Shaheryar Irfan	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0036	Muhammad Tanzeel Ur Rahman	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0037	Muhammad Waleed Farooq	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0038	Muhammad Zulqarnain Shafique	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0039	Muneeb Ur Rehman	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0041	Noman Khan	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0043	Raima Batool	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 8th Semester, Section A, Morning, Session Autumn 2025

		CSC.305					CSC201					CSC206					CSC-303					CSC322-1					CSC505						
		Introduction to Software Engineering					Computer Organization & Assembly Language					Database Systems					Object Oriented Programming					Compiler Construction					Numerical and Symbolic Computing						
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product		
B.S CS Aut-21-M-A-0007	Amir Hamza	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS Aut-21-M-A-0011	Hassan Muhammad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS Aut-21-M-A-0033	Nouman Zahid (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS Aut-21-M-A-0042	Siraj Munir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS Aut-21-M-A-0044	Talha Asim	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-E-A-0196	Muhammad Yaseen Hayat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-		
B.S CS SP-2022-E-A-0202	Shoaib Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-E-A-0205	Zeeshan Ejaz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-E-B-0261	Rana Muhammad Saad Jamil	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-A-0002	Abdul Rahman Ahmad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0003	Abdul Salam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0004	Abdullah Afran Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0005	Aleena Ishfaq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0006	Areeba Shoukat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0008	Badar Majid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0017	Iqra Naseer	-	-	-	-	74	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0019	Kainat Shahzad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0020	Mehak Ali Zia	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0021	Mohsin Abbas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0025	Muhammad Fahad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0028	Muhammad Jawad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0033	Muhammad Obaid Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0034	Muhammad Shaheryar Irfan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0036	Muhammad Tanzeel Ur Rahman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0037	Muhammad Waleed Farooq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0038	Muhammad Zulqarnain Shafique	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0039	Muneeb Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0041	Noman Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-
B.S CS SP-2022-M-A-0043	Raima Batool	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 8th Semester, Section A, Morning, Session Autumn 2025

		HUM.302					HUM102					PRJ602					SSE 507					SSE 611					SSE502				
		Professional Practices					Communication & Presentation Skills					Final Year Project (Phase-II)					Parallel and Distributed Computing					Data Science					Data Mining				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-21-M-A-0007	Amir Hamza	65	C+	2.5	3	7.5	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-21-M-A-0011	Hassan Muhammad	71	B	3.0	3	9.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-21-M-A-0033	Nouman Zahid (Withheld due to Fe						-	-	-	-	-						-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-21-M-A-0042	Siraj Munir	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-21-M-A-0044	Talha Asim	80	A	4.0	3	12.0	70	B	3.0	3	9.0	59	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-A-0196	Muhammad Yaseen Hayat	71	B	3.0	3	9.0	-	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-A-0202	Shoaib Ali	70	B	3.0	3	9.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-A-0205	Zeeshan Ejaz	80	A	4.0	3	12.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-B-0261	Rana Muhammad Saad Jamil	73	B	3.0	3	9.0	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0002	Abdul Rahman Ahmad	81	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0003	Abdul Salam	81	A	4.0	3	12.0	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0004	Abdullah Afran Khan	80	A	4.0	3	12.0	-	-	-	-	-	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0005	Aleena Ishfaq	71	B	3.0	3	9.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0006	Areeba Shoukat	80	A	4.0	3	12.0	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0008	Badar Majid	78	B+	3.5	3	10.5	-	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0017	Iqra Naseer	75	B+	3.5	3	10.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0019	Kainat Shahzad	83	A	4.0	3	12.0	-	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0020	Mehak Ali Zia	70	B	3.0	3	9.0	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0021	Mohsin Abbas	71	B	3.0	3	9.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0025	Muhammad Fahad	75	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0028	Muhammad Jawad	75	B+	3.5	3	10.5	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0033	Muhammad Obaid Ullah	70	B	3.0	3	9.0	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0034	Muhammad Shaheryar Irfan	80	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0036	Muhammad Tanzeel Ur Rahman	81	A	4.0	3	12.0	-	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0037	Muhammad Waleed Farooq	77	B+	3.5	3	10.5	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0038	Muhammad Zulqarnain Shafique	75	B+	3.5	3	10.5	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0039	Muneeb Ur Rehman	81	A	4.0	3	12.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0041	Noman Khan	77	B+	3.5	3	10.5	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0043	Raima Batool	82	A	4.0	3	12.0	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 8th Semester, Section A, Morning, Session Autumn 2025

		SSE606					
		Advanced Programming					
		Obtained	Grade	GP	Credits	Product	
B.S CS Aut-21-M-A-0007	Amir Hamza	-	-	-	-	-	
B.S CS Aut-21-M-A-0011	Hassan Muhammad	-	-	-	-	-	
B.S CS Aut-21-M-A-0033	Nouman Zahid (Withheld due to Fe	-	-	-	-	-	
B.S CS Aut-21-M-A-0042	Siraj Munir	-	-	-	-	-	
B.S CS Aut-21-M-A-0044	Talha Asim	-	-	-	-	-	
B.S CS SP-2022-E-A-0196	Muhammad Yaseen Hayat	-	-	-	-	-	
B.S CS SP-2022-E-A-0202	Shoaib Ali	-	-	-	-	-	
B.S CS SP-2022-E-A-0205	Zeeshan Ejaz	-	-	-	-	-	
B.S CS SP-2022-E-B-0261	Rana Muhammad Saad Jamil	70	B	3.0	3	9.0	
B.S CS SP-2022-M-A-0002	Abdul Rahman Ahmad	-	-	-	-	-	
B.S CS SP-2022-M-A-0003	Abdul Salam	-	-	-	-	-	
B.S CS SP-2022-M-A-0004	Abdullah Afran Khan	-	-	-	-	-	
B.S CS SP-2022-M-A-0005	Aleena Ishfaq	-	-	-	-	-	
B.S CS SP-2022-M-A-0006	Areeba Shoukat	-	-	-	-	-	
B.S CS SP-2022-M-A-0008	Badar Majid	-	-	-	-	-	
B.S CS SP-2022-M-A-0017	Iqra Naseer	-	-	-	-	-	
B.S CS SP-2022-M-A-0019	Kainat Shahzad	-	-	-	-	-	
B.S CS SP-2022-M-A-0020	Mehak Ali Zia	-	-	-	-	-	
B.S CS SP-2022-M-A-0021	Mohsin Abbas	-	-	-	-	-	
B.S CS SP-2022-M-A-0025	Muhammad Fahad	-	-	-	-	-	
B.S CS SP-2022-M-A-0028	Muhammad Jawad	-	-	-	-	-	
B.S CS SP-2022-M-A-0033	Muhammad Obaid Ullah	-	-	-	-	-	
B.S CS SP-2022-M-A-0034	Muhammad Shaheryar Irfan	-	-	-	-	-	
B.S CS SP-2022-M-A-0036	Muhammad Tanzeel Ur Rahman	-	-	-	-	-	
B.S CS SP-2022-M-A-0037	Muhammad Waleed Farooq	-	-	-	-	-	
B.S CS SP-2022-M-A-0038	Muhammad Zulqarnain Shafique	-	-	-	-	-	
B.S CS SP-2022-M-A-0039	Muneeb Ur Rehman	-	-	-	-	-	
B.S CS SP-2022-M-A-0041	Noman Khan	-	-	-	-	-	
B.S CS SP-2022-M-A-0043	Raima Batool	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

\_\_\_\_\_  
**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Computer Science) 8th Semester, Section A, Morning, Session Autumn 2025**

Registration #	Name	AIE506					CSC 302					CSC 401					CSC 402					CSC 425-1					CSC 503				
		Machine Learning					Programming Fundamentals					Data Structures & Algorithms					Information Security					Human Computer Interaction					Artificial Intelligence				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2022-M-A-0044	Saim Bakhtiar	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0046	Seraj Zeb	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0047	Shahzeb	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0048	Shanza Haleem	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0050	Sidra Bibi	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-B-0103	Syeda Khadija Batool	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	
BS CS Aut-20-E-A-0106	Ali Ahmad	32	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
BS CS Aut-20-E-A-0125	Muhammad Usman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-		
BS CS Aut-20-E-B-0171	Moeen Khan	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	
BS CS SP-20-M-A-0032	Saqib Haroon	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	
BS CS SP-21-M-A-0024	Muhammad Nadeem Tariq	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
BS CS SP-21-M-C-0151	Syed Muhammad Ali Akbar	66	C+	2.5	3	7.5	-	-	-	-	74	B	3.0	4	12.0	80	A	4.0	3	12.0	-	-	-	-	-	74	B	3.0	4	12.0	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026





**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Computer Science) 8th Semester, Section A, Morning, Session Autumn 2025**

		HUM.302					HUM102					PRJ602					SSE 507					SSE 611					SSE502					
		Professional Practices					Communication & Presentation Skills					Final Year Project (Phase-II)					Parallel and Distributed Computing					Data Science					Data Mining					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S CS SP-2022-M-A-0044	Saim Bakhtiar	82	A	4.0	3	12.0	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0046	Seraj Zeb	70	B	3.0	3	9.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0047	Shahzeb	75	B+	3.5	3	10.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0048	Shanza Haleem	80	A	4.0	3	12.0	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0050	Sidra Bibi	65	C+	2.5	3	7.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-B-0103	Syeda Khadija Batool	66	C+	2.5	3	7.5	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS CS Aut-20-E-A-0106	Ali Ahmad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS CS Aut-20-E-A-0125	Muhammad Usman	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	74	B	3.0	3	9.0	
BS CS Aut-20-E-B-0171	Moeen Khan	77	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-
BS CS SP-20-M-A-0032	Saqib Haroon	66	C+	2.5	3	7.5	-	-	-	-	-	80	A	4.0	3	12.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
BS CS SP-21-M-A-0024	Muhammad Nadeem Tariq	81	A	4.0	3	12.0	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
BS CS SP-21-M-C-0151	Syed Muhammad Ali Akbar	80	A	4.0	3	12.0	-	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

\_\_\_\_\_  
**Ghayyas ud Din**  
 Controller of Exams

Result declaration date: 23/02/2026